o] 2717} gyt

)
]

IS

1

24,

o]
Ayt
sy

al
=
e

=
T

oo
ook
o] =27]




Gl

o] 27)7} thg Ut

)
T

IS

1

o]
et
24,

O I
1 1
O O
T:Tl
Lr
—

el 127

Ago] g,
Wit GEe $22 ol gy

=
A9] 2

~

ol

ar
ol

=
=
=
A

r mh

00O




3.

O HAY SollM y 7t x of HhEjesh=

D y=x+2+1 @ y=x+3

@ y=3xx ® 2xy=4xx

HhelE BAA axy=[ |
® xxy = 6(5HH]])




= 5y 7bx ol WSk AS BF A=A (FE 2 7H)

D y=5-x @ny:i’) @ x+y=1

@ x+y=2 (@)y:6+x




@ 1.5x1.5x3.14 x 5 = 35.325(cm?)
@ 2x2x3.14x 3 = 37.68(cm?)

® 2x2x3.14 x 3.5 = 43.96( cm?)

@ 2.5%2.5x3.14 x 3 = 58.875( cm?)
® 3x3x3.14x2 = 56.52(cm?)
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AJY7t?
1 4 1
4- +04 —=0. — = 0.

® il 0 @5g 0.3 @38 0.5
3= +0.7 4= £0.25

® 2 © 5

D 4.25+0.4 = 10.625
®58+0.3=19.333---
® 3.125+ 0.5 =6.25
@35+07=5

® 44+025=17.6
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[ lgwre 45 oL

_-8cm.

e \écm\ =
@ @)
v 4 -
@® 63cm? 2)65 cm? ® 67cm?
@ 69 cm? ® Tlem?

1 1 5 7
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(8 Lm) (B uE)=22 35 =25 2 =5:7
H1Le9 ol 12cmo|BERE
HL w9 Zoj 12X%:5(cm)

Alze] do] 1 (del) + (71=)
=120 + 12 = 10( cm)
@2] Wol : (8+5)x 10 +2 = 65(cm?)
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